=

o(d dxy) (cm)
o(d dz) (cm)

107t

-
<
AN

UL L AL L
& H g -
3 : -+
- i .- Fs
: L
s
OJ--UU + . + t + OJ--UU ! 11111 11111 11 11 Liila) ]
= [ : ' 5 ' = [
] 1 : © [:
o | 5 o
15 : 1_'
005l . : : 005l : : : :
-3 -2 -1 1 2 3 = -2 -1 0 1 2 3

0

DOV VUUUT KOUUUUDUUT lopal  MKEITIUUUO — KEUU H
—— DOM_V0001"R000000001_Global_mkFit1000 "RECO mline)
DOM~—V0001~R000000001—Global—mkFit1000ATime _RECO
DOM_V0001-R000000001—Global—mkFit1000CTime _RECO

DOM V0001 R000000001 _Global _mkFit1000MTime _RECO

=) > 1F
3 I
= <
©
% ©
10‘1__5
$0% e e e e SO T E T T TR T
5| s 5|
e 1 : e 1
l_ s 1_
0931 o0 1 2 3 09351 o0 1 2 3

TP @ (PCA to beamline) TP @ (PCA to beamline)



	Contents
	Page 1


